Technician B Electrician



The voltage of domestic supply is 220 V. This number represents
a) Mean value b) R.M.S. value

¢) Peak value d) Average value

T SYfef P dlecsl 220 V &1 T8 3 1 UK Bl &7
a) AT T b) RM.S. T

o) 3ifrpad AF d) 3M9d AF

What would be desirable power factor of an electrical system from the following?

a) 0 b) 0.5 c) 0.9 d) 1.1



% dfdcdhd RIeH &1 B9 Ul gess Fyfafad o & o grm?
a) 0 b) 0.5 ) 0.9 d) 1.1

The best place to install a capacitor is

a) Across the circuit breaker

b) Across the terminals of the inductive load
¢) Across the terminals of the resistive load

d) Far away from the inductive load

Td SR B RIMUd S T Tad Iugad Rd DIH-91 82
a) Gfdbe s & &9 b) IRFrH R & efifal & &
¢) UfeRi® YR & cfi=al & ot d) IR0 YR A HTHI T



Power Factor = ?

a) kW/KVA b) cosine of angle between current and voltage
¢) R/IZ d) All of the above

Udi Ycdh = ?

a) kW/KVA b) ¢ Ud dlecd & §id & Il HI B

c) R/Z d) Iuddd Tt

The main purpose of performing short circuit test in a transformer is to measure its

a) Copper loss b) Iron loss ¢) Hysteresis loss d) Eddy current loss



s TG § UTE Fidhe TR&01 Fafed - ST A e 397
Cageive ) d
a)d@ie b dee  oRRRRmaR J) Eieesi

The efficiency of two identical transformers under load conditions can be

determined by
a) Short circuit test b) Open circuit test
¢) Back to back test d) All of the above

YR RUFT & 3127 S 90 iownRl &t e & gR1 [AuiRa faea
o G & |

a) T Ffdbe udierm b) 31U Hfdbe uiem

¢) 9% ¢ db URI&UI d) Suad qut



The transformer laminations are insulated from each other by

a) Mica b) Paper ¢) Thin coating of varnish d) PVC

THGIR & APAH U6 gk 9§ gR1 fagga-Aedt fee Srd g
a) HIg1 U b) BT o I B A P d) didiRR

Which DC motor has the least percentage increase in input current for the same

percentage increase in torque?
a) Separately excited motor b) Series motor

¢) Shunt motor d) Compound motor



frg St Aier & 9 & 9uM ufaRid gfe & forg $9qe #ie & 9ed &1

uferera gfs gt 82
a) QUCH! TgHI3CS AIeR b) RIS Alex
¢) ¥ AR d) FUNES AR

The material for commutator brushes is generally

a) Mica b) Cast iron c¢) Copper d) Carbon

FHRICR ¥ & fore yga areht wra: @il 8
a)AISHI  b)e@a@i el c) diEl d) HTaA



Solar thermal power generation can be achieved by?

a) Using heliostat b) Using flat plate collectors
¢) Using a solar pond d) Any of the above
IR a9 Sl [ gR1 gRord &t o1 Gt 82

a) feferdi e & Suam A b) Tl Wi Halgex & IYANT
¢) IR U8 & Iuar 9 d) 3uad o ¥ &g it

A moving-coil permanent-magnet instrument can be used as flux-meterby .
a) using a low resistance shunt

b) using a high series resistance

¢) eliminating the control spring

d) Using a control spring of large moment of inertia



U Tasitd-pigd RIRM-gad UG Bl Fid-Hick & FU ¥ {6 JHR
T {3 T e 87

a) U Ay ufeRius gie & Iuam

b) T I RIS UfcRIUS® & IUTRT A

c) Frdzr {8 &1 gerar

d) a1 STSd-3meuf &t fAd=or {8 Iuar 3

The stator of phase shifting transformer for use in conjunction with an AC
potentiometer usually has a
a) single-phase winding b) two-phase winding

¢) three-phase winding d) None of the above



T UefREmer & Y SaivH & oy Rt cReiiR & wex #
AMURW__ Bdlgl

a) THA-hol Hsa b) T6-BW Hea

c) B-thal e d) 3ugdd H d g el

[f the current in a capacitor leads the voltage by 60°, its power factor is
a) 0.6 b) 0.5 ¢) 0.9 d) 0.866

Ife U URE & Hie diced T 60° 3T 2, dl ISP IR UH =uil
a) 0.6 b) 0.5 ) 0.9 d) 0.866



In a single phase power factor meter, the phase difference between the currents in

the two pressure coils is

a)0° b) 90° c) 180° d) 270°

% Uah -1l UTaR 9ed HieX H g1 414 Biscd & aid by fuzar ___ it 8l
a) 0° b) 90° c) 180° d) 270°

The power factor of a single phase load can be calculated if the instruments
available are

a) one voltmeter and one amuneter

b) one voltmeter, one ammeter and one wattmeter

c) one voltmeter, one ammeter and one energy meter

d) one wattmeter



& UHd by s & UIGR YT $I TUAT 99 $I off Yt g, afe
U JuT Bl |

a) U diecHIeR 3R U THieR
b) T dlecHicy, U UHIER 3R U dicHle

¢) U diceHiex, U UHeR 3R TP TSl Hiex
d) T dicHIcR

If an instrument has cramped scale for larger values, then it may be following

a) square law b) logarithmic law c¢) linear law d) square root law

gfe Ueh U0 H IR HH| & o1 9 THHT 81, dl 98 SUSHRUI
TRV T Bl Gl g
a) 3 g\ b) TV faH ofes fFam  d) avigE Fam



Alternating current is measured by
a) induction ammeter b) permanent magnet ammeter

¢) electrostatic ammeter d) moving iron repulsion ammeter

ummﬁfaﬁtﬁu_mmmél
a) "&b UHiex b) ¥t ga& Ui
o) figgRifas trfter d) fafte die ufdasor e

Knee voltage for silicon is around
a)04V b)03V c)0.7V d) 15V



fiferda & R0 Knee-diet YT BiaT B
a) 0.4 V b) 0.3V )07V d) 15V

Ripple factor of full wave rectifier is
a) 0.38 b) 0.48 ¢)0.58 d) 0.68

qui a7 gk &1 @1 Ues _ giar gl

a) 0.38 b) 0.48 c) 0.58 d) 0.68



An oscillator converts

a) AC power into DC power b) DC power into AC power

¢) Mechanical power into AC power d) AC power into AC power
% qifer fufafad & 3 e ufkafda sar g2

a) T UTaR &t St UraR A b) SIEt UTaR &I T UraR |
¢) TifA® uraR ! vt uraR A d) Tt UraR &1 vt uraR |

The underground electrical distribution system cannot be operated above
a)440 VvV b) 11 kV ¢)33kV d) 66 kV



yftrTa fagyga fAaRur yomelt &1 & SO waiferd 78 i o gl g
a) 440 V b) 11 kV ¢) 33 kV d) 66 kV

Which of the following material is not used for transmission and distribution of

electrical power?

a) Copper b) Aluminium c) Steel d) Tungsten

fafafed @ @ frg uiq &1 3afdeda TR & TER 3R faaor & fag wanr
eI foar S 82

SGIEL b) TATH o) ¥l d) e



Which of the following is a parameter of transmission line?

a) Resistance b) Inductance ¢) Capacitance d) All of the above

frafafaa & J T eiflme dge &1 ured 82
a) TfeRIY b) IS ¢) GUROT d) Sudad ot

The power factor of industrial loads is generally

a) Unity b) lagging ¢) leading d) zero

2TATR IR 2NfE HR P IR Ucdh IR
a) Uhdh b) U&ATTHI c) SHTTHI d) Y



3-phase 4-wire system is commonly used for
a) primary transmission b) secondary transmission

¢) primary distribution d) secondary distribution

3-Thol 4-dRIR YUITEH! &1 AR R fafere yan fasar sirar g2
a) UTUfI® TR b) fgdias waRY
¢) Urufie faawor d) fadias faarur



In electrical resistance welding, material of electrode should have

a) High electrical conductivity
b) High thermal conductivity

¢) Strength to sustain high pressure at elevated temperatures
d) All of the above

gafdeed ufaRius AfET # 3aacrs o aneft o gt arfeul
a) 3 faggd Iredar b) I AU AT dl
¢) 9¢ U AYHM W I G U+ B ! Lfad d) Iudad ot

In an arc furnace, the choke is provided to

a) improve power factor b) stabilize the arc

¢) reduce the surge severity d) all of the above



3{Tdh- 12l H Aiep fhafere 34T il 87
a) UTaR UTH P! Yafdid & & forg b) 31 @& RR & & forw
¢) TS IUd1 Bl HH HA & fag d) Iudad gt

Which of the following device is not used for cooling in a refrigerator?

a) Throttling device b) Evaporator c¢) Compressor d) Condenser

PRI & 3T ST B & fore Fufafaa & & H=-1 Suwpr yan st
foran Srar 22
a) SRIH IuHT SEIEES ¢) Tdis® d) "afz



For three-phase induction motors which of the following is the least efficient

method of speed control ?
a) Cascade control b) Pole changing

c¢) Rheostatic control d) Combination of cascade and pole changing

fFafefed § ¥ 3-%e IR& Ae}] & ford 7ifd fAd=or 3t a8 &1 g fafy
D@ 82

a) PRbs 0T b) e uRad

o) Frarefess Ao d) BIPS AR Urd URad= o1 fHgor

The efficiency of diesel locomotives is nearly

a) 20% - 25% b) 35% - 40% ¢) 50% - 55% d) 70% - 75%




2o AipEed Bt &mdr & MUY gt &
a) 20% - 25% b) 35% - 40% ¢) 50% - 55%

Energy available in fuel is stored as
a) Thermal energy b) Chemical energy

¢) Atomic energy d) Electric energy

SE AU FHoll & =y H Heia 3 ordt 21
a) It St b) IS Hal
o) NI Soil d) faggeita e

d) 70% - 75%



The type of wiring depends on
a) electrical load b} cost c¢) safety d) All of these

I BT UBR R AR a8l
a) 3AfdcHd ArS b) HIHA ¢) & d) Sudad I+t

What is the maximum load that can be connected in a circuit connecting only
lighting points?
a) 400 watts b) 600 watts ¢) 800 watts d) 1000 watts



Fad ARl URTY $I Wieq g 9idhe &1 ftiedd die &1 8) Ybdl 2
a) 400 @i b) 600 dic c) 800 dic d) 1000 afe

No-load current in a transformer

a) lags behind the voltage by about 75°
b) leads the voltage by about 75°
¢) lags behind the voltage by about 15°
d) leads the voltage by about 15°

U TR # a8 $ee gl g
a) iecs § TIHT 75° Ui b) dleedl I TATHI 75° 3T
¢) aieesl ¥ TITHIT 15° WS d) aiees ¥ T 15° 3Tt



Efficiency of a power transformer is of the order of
a) 100% b) 98% c¢) 80% d) 50%

Ueh UTaR TREPTER Bl & TTHT Bt 21
a) 100 % b) 98 % c) 80 % d) 50 %

In transformer, function of a conservator is to
a) provide fresh air for cooling the transformer
b) supply cooling oil to transformer in time of need

¢) protect the transformer from damage when oil expends due to heating

d) none of the above



TS TR § WES HITH™ _____ gl gl

a) TIEBIHR B 38T HIA P o ATl §aT UG HIAT

b) SMIIHAI TS W HicT s B Y BT

¢) AT B golg U 3H3d & W 81 TR TIEHIHR Bl TE
d) Iudad ¥ § HIE &l

The purpose of using iron core in transformer is
a) to reduce hysteresis losses

b) to reduce eddy current losses

¢) to provide support to windings

d) to decrease reluctance of magnetic path



PR T Aig 3R ST HA I3 ____ el 8l
a) fee Ry 13 &1 1 31 b) TS H¥C B11A Bl HH BT
¢) $SAA D! YgRI UG HAT d) GBI Uy FT Reiacq 7 S

In a transformer the tapings are generally provided on

a) primary side b) secondary side

¢) low voltage side d) high voltage side

U6 TR AT MAR R W USH &I ol g
a)MAs Uy b)fgdad us  ofFEdieaiuy d) A dieeadl Ug



The noise resulting from vibrations of laminations set by magnetic forces, is

termed as

a) Magnetostrication b) boo ¢) hum d) zoom

YD I gRIAMRA S G A AH AAG DI ___ Hgd gl
a) AUCIfCH A b) § c) 8 d) S

Which of the following property is not necessarily desirable in the material for
transformer core?
a) Mechanical strength b) Low hysteresis loss

¢) High thermal conductivity d) High permeability



TR R @t grrdt # FafefEa §  S1-a1 o g aieig T8 82
a) TifAe Wfdd b) 3y feReRiR¥g g1
¢) I AU gArdrdh dl d) 3= JrEaHed!

Which of the following is the main advantage of an autotransformer over a two

winding transformer?
a) Hysteresis losses are reduced b) Saving in winding material

¢) Copper losses are negligible d) Eddy losses are totally eliminated

S S S R S R e e e
a) R &1f %w &Y ot 1 b) IRFET Il B 59d B 3
¢) ITH-B 7 & SR&R gl gl d) Tf$ &1 qofa: T gt o |



On which of the following, routine tests are conducted?

a) Oil circuit breakers b) Air blast circuit breakers
¢) Minimum oil circuit breakers d) All of the above
frufefag § @ feg w Rafag e feu o §2

a) 3T3d Tfhe FAR b) TOR SRE [ihe AT

¢) YA 3Higd Hidbe s d) Sugad gt

A thermal protection switch can protect against

a) Open circuit b) High temperature c¢) overload d) over voltage



T gRe Rag Y GR&f T B Gohell g
a) A GfBEe b)) IAAUHA o) AWIS d) 3flaR dlecs

Ampere is equal to

a) Coulomb x second b) Coulomb/second
¢) Volt/second d) Ohm/Volt
UARR fgs SR gidr 87

a) A x Yb8  b) FaAHADS  ¢) dlec/ADbS

I MQ =

d) 3figy/ i

a) 10°Q b) 10° n Q ¢) 10°mQ d)10°n Q



1MQ =

a) 10° Q b) 10° uQ ) 10° mQ d)10° nQ

Two resistors R1 and R2 gives combined resistance of 4.5 Q when in series and
1 ©Q when in parallel. The resistances are and

a)4Q,0.5Q b)28,258 c)1.5Q.3Q d)1£,358

3! ufeRie® R1 3R R2 W & SIS 9 W 4.5 q 3R IHAR SIS o1 )
10 &1 $d UaRIY UEH & & | UfeRiu® 3R e & gl
a)40,050 b)2Q,250 150,30 d)10,350




Which of the following bulb will have the least resistance?
a) 220 Volt, 60 Watt b) 220 Volt, 100 Watt
c) 115 Volt, 60 Watt d) 115 Volt, 100 Watt

fAofafaa § 9 f5g 9 &1 ufdRiy 9ad 9 g
a) 220 Volt, 60 Watt b) 220 Volt, 100 Watt
¢) 115 Volt, 60 Watt d) 115 Volt, 100 Watt

The ratio of resistance of 100 Watt, 220 Volt lamp to that of a 100 Watt,110 Volt
lamp will be nearly

a) 4 b) 2 c) v2 d) Y



U&H 100 Watt, 220 Volt U T UfaRIY, TH 100 Watt, 110 Volt AT & HfaRy
®I g A ToT g
a) 4 b) 2 Q) ¥a d) Ya

Four identical resistors are first connected in parallel and then in series. The
resultant resistance of the first combination compared to the second combination
will be

a) 1/16 times b) % times c) 4 times d) 16 times

IR JAF RIS &1 Tgd EFAIR AR R 9ot § ST ofian g1 g
Ao & GHTEad Ugd Gare &I ko ufekiy gl
a) 1/16 T[0T b) ¥4 T[OM ¢) 4 70N d) 16 TOT



How many different resistance values can be obtained if you have three resistors

each of value R?
a) 4 b) 5 c) 7 d) 8

3TUS U R H & oA UfaRIye® g, al fovaq i ufoRiy Ied &1 9 &2
a) 4 b) 5 Q)7 d) 8

A wire of 0.14 mm dia and specific resistance 96 nQ2-m is 440 cm long. The
resistance of wire will be

a) 9.6 £2 b)11.3 2 ¢) 13.7 &2 d) 27.5 &



0.14 mm Y 3R 96 nQ-m fARY UfdAY I TF IR 440 cm ST B, 39
IR &1 ufeRIy gh|

a)9.6Q b)11.3Q c) 13.7Q d) 2750

Heating element of a hot plate draws 12 A current from 240 V mains. How many
unit of energy will be consumed in one hour and 15 minute?

a)3.312 b) 3.6 ¢) 6.0 d) 7.2

U BIC WIT BT SHWTUTH 240 VAT 12 ADC Figdi g1 T Ue 15 fAfae
o Sl @l fabat giAe &1 @ud gri?
a) 3.312 b) 3.6 ¢) 6.0 d)7.2



Temperature coefficient of resistance is expressed in terms of
a) WQ'C b) U/Q C ¢) UFC d) Q/°C

yfaRiY &1 aUHH Ui f6a ueR uelRid fear s g2
a) Q/Q °C b) 1/Q °C 0) U/°C d) Q/°C

Which type of generator is preferred for charging automobile batteries?
a) Series generator b) Shunt generator

¢) Compound generator d) Any of the above



Jicrarsd defikdl B 9l 4 & [T fbd YHR & e $I aigdl &
STt 82

a) TR SRR b) X FARER

¢) BUTSE TR d) Suad o ¥ &g ot

Which winding on DC generators is preferred for generating large currents?
a) Lap winding b) Progressive wave winding

¢) Retrogressive wave winding d) All of the above

§8q B BT Yoid B & (oY SHT FFReR |R SH-8 o $I adrgdl &l
STt 37

a) 9 s b) W T I

¢) UHTTH] TR H S d) Iudad it




Which motor is preferred for cranes and hoists?
a) DC Shunt motor b) DC Series motor

¢) Synchronous motor d) Induction motor

F 3R IUD] & forw HH-T Aex & adgar <t Sirdt 82
a) Sl Yie A b) Sit TR Aex
¢) geaPIal Hiex d) TR HIex

A punching machine has intermittent light and heavy loads. Which DC motor will
be suitable for such machine?
a) Series motor b) Shunt motor

¢) Cumulatively compound motor d) Differentially compound motor



U Ufeh i H 3iavifie gep 3R Ut &t © | Ot 1efle & foru fra usR
o1 St Aex Iuged I@Ait?
a) TS AR b) i AR

¢) T i AeR d) faves giftes Aex

The power factor of an alternator depends on

a) Load b) Speed of rotor ¢) Core loss d) Armature losses

Ui &7 UraR Ued g R AR #ar g2
a) dIS b) e F 1A ¢) PR g d) 3R g1



Alternators used in air craft systems usually have frequency of
a) 50 Hz b) 60 Hz ¢) 100 Hz d) 400 Hz

gaTs SeTll § Uged erafasl #1 Sy SmaR R ___ §idt 81

a) 50 Hz b) 60 Hz ¢) 100 Hz d) 400 Hz

Which of the following is not an integral part of synchronous generator system?
a) Prime mover b) Distribution transformer

¢) Excitation system d) Protection system



fafafad § 9 o1 geadmrel SHe WumTeR @1 T 3 81 87
a)URHATR  b)fARUTBIR o SO UM d) FR& JomeR

Which of the following losses is not fixed for a synchronous machine?

a) Bearing friction loss b) Copper loss ¢) Winding loss d) Core loss

& qeudiel A & fore Fafafaa 7 @ o1 @ g1 A 721 &2
a) foafemadur g™ b) afeT Bl OFSEEH  d)BREM



An unexcited single phase synchronous motor is
a) Reluctance motor b) Universal motor

¢) Repulsion motor d) AC series motor

a) Raae g Hex b) Fdfdggd Hiex
¢) Ufayur Jiex d) T §¥S AR

The difference between the synchronous speed and the actual speed of an induction
motor is known as

a) Regulation b) Back lash ¢) Slip d) Lag



Us RS Hie B! JedbTall Tfa IR IRARe Ma S ST Bh Bl Pal
S g
a) fFrmA b) TYTHA c) fagdor d) S

Slip rings for induction motors are made of

a) Copper b) Carbon ¢) Phosphor bronze d) Cobalt steel

RSP Hiel &1 fagdor o frg anht @ s+ gidt 82
a) Tl b) BT ¢) BRWBR HiY d) Pl TId



As load on an induction motor increases,

a) Its power factor goes on decreasing
b) Its power factor remains unchanged
¢) Its power factor goes on increasing

d) Its power factor goes on increasing up to full load then it falls again

- 0F NP AR RAgdgais

a) IUHI YR Uedh el Srdl g

b) ST UIGR Ued fuRafad Igdl gl

¢) IYP TR °UcHh dgdl Srdl g

d) IS UTaR gedh Quf AS b Sgal Il § SR bR ge aan g

The phenomenon of crawling occurs in induction motor due to
a) Low voltage b) High load

¢) Jammed bearings d) Harmonics developed in the motor



frdt Ivep \ex o fearor Y uftge fog aois A 8t 82
a) 37 gices b) I @IS
¢) S g% SR d) Aex # fasfya ongf

In a squirrel cage induction motor, starting current is
a) Half the rated current b) Equal to the rated current

¢) About twice the rated current d) About 6 times the rated current

e IR MR A URfS e a8l
a) fraa &3 &1 enut b) FATd Fie F RN
¢) Faa ®¥e &1 @ SR d) fAgd ®¥e &1 T 6 T



The speed-load characteristic of an induction motor resembles which of the

following motor?
a) dc series motor b) de shunt motor

¢) Universal motor d) dc compound motor

IR AeX & Tia-HR e Fafofed & 3 5y Aey & g gid 82
a) Sl I AleR b) STt Te AR
¢) 94 faggd Al d) SIl $UES Al

Which motor has the highest power to weight ratio?
a) Universal motor b) Induction motor

¢) Synchronous motor d) Capacitor motor



fg Aier # UTeR | A1 &1 U T e giar 82
a) 9 faqgd AR b) SRebed HIeR
¢) geadIcl Hiex d) gemfia dier

Capacitor start single phase induction motor will usually have a power factor of
a) 0.8 Leading b) 0.8 lagging ¢) 0.6 Leading d) 0.6 Lagging

TeRT T YR 811 aIeh Uhd Bl IR I A H IMHAR TR UIdR Ueh
HGI
a) 0.8 ST b) 0.8 TYTTHI ¢) 0.6 3ITH! d) 0.6 GHTTH!



The starting capacitor of a single phase motor is
a) Electrolytic capacitor b) Ceramic capacitor

¢) Paper capacitor d) Tantalum capacitor

Uohd ol HieR &1 URYS Juiia 8T gl
a) SAGEIITed HHTRA b) Rfire Fenfea
¢) BRTS Femia d) eeaH i



A universal motor is one

a) Which can run on any value of supply voltage
b) Which has infinitely varying speed

¢) Which can operate on ac as well as dc voltage

d) Which can work as single phase or three phase motor

¥d fagga AR qg gt o, S

a) 3MYfef e & fapdt +ft A R et Tehdl B

b) R 3 uRad-Ta el g 21

¢) o ot ud SRf Sl diew R Brf B T g

d) ST s Byl a1 -1 Aiex & =0 | S B Jahall g

Which of the following make use of universal motor?
a) Floor polishing machine b) Oil expeller

¢) Portable tools d) Lathe machines



Pofifad 3 A fra & 9 faqgd Hiex &1 v g g2
a) TR Uit 7Liq b) a0 SfehIA
¢) MIead IUHI] d) oy #=fe

For celling fans, generally the single phase motor used is
a) Split phase type b) Capacitor start type

¢) Capacitor start and run type d) Permanent capacitor type

Td P UGl H MHIR WS- Uhd bl HieI T Dt Srd! 82
a) facte 9 UHR b) GUTRT URYH UHR
¢) GYTRA URY T4 ¥ 2139 d) it G41ia UeR



When a dc series motor is connected to ac supply it will

a) Spark excessively b) Run at low speed
¢) Run on poor power factor d) All of the above
Td St Aiex &1 Tt 3ryfd ¥ Sits o1 IR I8 .

a) AAfIH Wreh B | b) & I UR et

¢) WIE UTaR ¢ TR gaiit d) Iqdad Tt



In a single phase capacitor motor, the direction of rotation will be in the opposite
direction to the original when

a) Electrolytic capacitor is replaced by paper capacitor

b) Capacitor is connected with reverse polarity

¢) Capacitor is replaced by a resistance

d) Capacitor is replaced by an inductor

THd tol SR Hiex I, guF &) fxn ga fexn 3 fauda grft e
a) Saacifdied SR HrTel GuTRa ¥ ufcuifud faar s

b) Herfa fausia gaur | Sirst smam|

¢) Ty & ufetus I ufawnfoea fsar smem)

d) GUTRE &1 IR ¥ wfawnfia fasar s

The rotor of which motor does not have winding on it?
a) Universal motor b) Hysteresis motor

¢) Reluctance motor d) Repulsion motor



forg Hiex & AeX W Ho 81 Bl 87
a) ¥d faqyd HicR b) RRRRR e
o) Raeda AR d) ufdreeor Hiex

Which motor has unsymmetrical rotor?

a) Universal motor b) Shaded pole motor
¢) Split phase motor d) Reluctance motor
forg Aiex & rgufia e gt 87

a) 94 fagygd die? b) VST U Al

o) e By AR d) Raacd Aiex



If a single phase motor runs hot, the probable cause can be
a) High voltage b) Shorted stator coils
¢) Low voltage d) All of the above

Uhd byl Al & TH gl OF &1 YHIId HRUT 1 2idl 87
a) 3@ dlecal b) Qs Wex Digd
o) g dieco d) Sudad gt



Wire-wound resistors are unsuitable for use at high frequencies because they .
a) Create more electrical noise

b) Are likely to melt under excessive eddy current heat

¢) Consume more power

d) Exhibit unwanted inductive and capacitive effects

RS UfeRIY® 3= Mgl R ST & ugaaeid &, Jife
a) 3P Fafdedrd WU Fd & |

b) P TSt He a R fud &d g |

¢) ¥ ek Ht Wud Hd &

d) 3faifesd IR 3R efkareres uHTa uefid &3 g

The apparent power drawn by an ac circuit is 10 kVA and active power is 8 kW

The reactive power in the circuit is
a)4 kVAR b) 6 kVAR c) 8 kVAR d) 16 kVAR



e Tt gfde gr Wi 7 snurft uraR 10 kvA 3R 9T e 8 kw B
gfde # Rufded arar gt

a) 4 kVAR b) 6 kVAR c) 8 kVAR d) 16 kVAR

For a sine wave with peak value 10 V, the R.M.S. value is
a5V b7V c)9V d) 14V

2 |71 10 v arelt 919 a3 & T RM.S. A =uil
a)5V b) 7 V )9V d) 14V



What will be the phase angle between two alternating waves of equal frequency,
when one wave attains maximum value the other is at zero value?
a) 0° b) 45° ¢) 90° d) 180°
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a) 0° b) 45° c) 90° d) 180°

The core used in the high-frequency transformer is usually

a) Copper Core b) Iron Core c¢) Mild Steel Core d) Air core
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a) diET R b) @Ig &R 0) g Tid BR d) I BHR

If B is the Flux density, | is the length and v be the velocity of the conductor, then
induced EMF is given by .
a) Blv b) BIv? c) BlI*v d) B°lv

I TP heaI HB R UId ¢, | das g iR vanT g A ARG EMF
er1 f&an S|
a) Blv b) Blv? c) Bl’v d) B2lv



The reserved generating capacity available for service under emergency conditions
which is not kept in operation but in working order is known as

a) Hot reserve b) Cold reserve  ¢) Spinning reserve d) Firm power

maraeTen fRufaal & st afdy & fore Iuasy siRféa Iaes amdr, st
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a) gic Red by Red ¢ &t feed d) BH U1aR

Which of the following essential features is possessed by an indicating instrument?
a) Deflecting device b) Controlling device
¢) Damping device d) All of the above
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a) fae Susmur b) fFHEe Iuae
¢) 3fTHE ITHRI d) Sudad gHi

Which of the following statements regarding an ideal single-phase transformer

having a turn ratio of 1 : 2 and drawing a current of 10 A from 200 V AC supply

is incorrect?

a) Its secondary current is 5 A b) Its secondary voltage is 400 V
c) Its rating is 2 kKVA d) Its secondary current is 20 A

T 3UTd 1:2 3R 200 V AC TG | 10 A FHie Fig a1d U e Uhd-
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a) 391 fgdia® s 5 A g b) 391 fadiag® diees 400 V B

¢) 3P AT 2 kVA B d) 391 fgdias H¥e 20 A B



Which of the following doping is used in p type semiconductor?

a)B b) P c) As d) Si
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a) B b) P ¢) As d) Si

A bridge type full wave rectifier uses number of diodes.
a) l b) 2 c)3 d) 4
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a) 1 b) 2 c)3 d) 4

Zener diode works as a

a) Rectifier b) amplifier c) voltage regulator d) current regulator

SR TS & U H S HIdl o
a) URSNUSH b) W& ¢) Aees Fams d) Hie Fames

PN junction diode has in middle.
a) depletion region b) narrow gap

¢) swift region d) conducting region
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a) SR & b) HHIU] SFRTE

o) férwr & d) 9 &

The NAND gate is gate followed by gate.

a) NOT, AND b) AND, NOT c) OR, NOT d) OR, AND

NAND 7Ie e & gaaq o e ¥ 91 8
a) NOT, AND b) AND, NOT ¢) OR, NOT

d) OR, AND



Low voltage cables are meant for use up to
a) 1.1kV b) 3.3kV c) 6.6 kV d) 230V

A diees] oA PIITART b (ST SIdT 2
a) 1.1 kV b) 3.3 kV ¢) 6.6 kV d) 230V

A synchronous motor is found to be more economical when the load is above

a) 1 kKW b) 10 KW ¢) 20 kW d) 100 kW
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a) 1 kw b) 10 kW ¢) 20 kW d) 100 Kw

What is efficiency of LED lamp?
a) <15 Im/W b) 25-35 Im/W c) 45-55 Im/W d) >80 Im/W

LED <9 ST & o1 8iat 82
a) <15 Im/W b) 25-35 Im/W ¢) 45-55 Im/W d) >80 Im/W



Where cleated electrical conductors cross each other, they shall be separated by an
which will rigidly maintain a distance.
a) Wooden batten b) Insulated bridging piece

¢) Clamps d) All the above
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¢) MY d) U T+

What would be the voltage across voltmeter V in the following circuit?
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12V
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lpF=_
a) 10°F b) 10 nF ¢) 10°®* mF

a) 42V
b) 4.8V
7.2V
d) 9.6 V

d) 10 uF



a) 10°F b) 10 nF ) 10 mF d) 10® pF

A 1 pF, 500V capacitor is being charged from a 100 V source. The charging current
will be least at

a) Initially b) When capacitor is 20% charged
c¢) When capacitor is 90% charged d) When capacitor is 100% charged

TE 1 pF, 500V FURF 100 v Ad T 1o a1 o1 @1 5| 1ol e &d
AT B 2

a) AT H b) ST& GRA 20% dTSt 81 SIAT
¢) STd TUTRA 90% 4TSI B ST d) 5T SR 100% TS 81 SR





